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1 class Search(object):
2 def search(self, nums, target):
3 left, right = 0, len(nums) - 1
4 while left <= right:
5
6 if nums[mid] == target:
7 return mid
8 elif nums[mid] > target:
9 right = mid - 1
10 else:
11 left = mid + 1
12 return -1
(] A. mid = (right + left) // 2 + left
() B. mid = (right - left) // 2 + left
(] C. mid = (right - left) // 2 -right
(] D. mid = (right + left) // 2 - left
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def coin_change(amount, coins):
result = []
for coin in sorted(coins, reverse=True):
while amount >= coin:

1
2
3
4
5
6 result.append(coin)
7 return result

8

9 coins = [1, 5, 10, 25]

10 amount = 63

(7] A. amount -= coin
(7] B. amount <= coin
() C. amount >= coin
(7] D. amount += coin
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1 def sieve(n):

2 if n < 2:

3 return []

4 prime = [True] * (n+1)

5 prime[0] = prime[1] = False

6 for i in range(2, int(math.sqrt(n)) + 1):
7 if prime[i]:

8

9

prime[j] = False
10 return [p for p in range(2, n+l) if prime[p]]
11 for prime in sieve_of_eratosthenes(100):
12 print(prime)

() A. for j in range(i, n+1, i):
(J B. for j in range(i*i, 1, n):
(] C. for j in range(i*i, n+1, i):
(J D. for j in range(i, n, i):
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1 n = 10**8

2 s = [0]*(n+1)

3 k=0

4 for i in range(2,n+1):
5 if s[i]==0:

6 k+=1

7

8 s[j]=1

(] A. for i in range(i*i,n+1,i):

(] B. for j in range(i*i,n,j):



(] C. for j in range(i*i,n+1,1i):
() D. for j in range(j*j,n+1,1):
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1 def search(arr, x):
2 low = @
3 high = len(arr) - 1
4 while low <= high:
5
6 if arr[mid] == x:
7 return mid
8 elif arr[mid] > x:
9 high = mid - 1
10 else:
11 low = mid + 1
12 return -1
() A. mid = (low - high) // 2
(] B. mid = (low + high) // 2
(] C. mid = (low + high) / 2
() D. mid = (low - high) / 2
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1 def unique_fac(n):

2 print(n, '=', end="")

3 for i in range(2, n + 1):

4

5 print(' {}*'.format(i), end="")
6 n//=1

7 ifn%i==0andi-==n:

8 print(' {}'.format(i), end="")
9 break

10
11 unique_fac(math.factorial(5))

(J A. whilen % i !=0 and i !=n:
(] B. while n % i == @ and i == n:

(JC. whilen % i==0and i !=n:



() D. while n % i !=0 and i == n:
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1 def box_packing(items, boxes):

2 boxes.sort(key=lambda x: x[0])

3 items.sort()

4 taken = [False] * len(items)

5 for i, item in enumerate(items):

6 taken[i] = True

7 for j, box in enumerate(boxes):
8 if box[@] >= item:

9

10 break
11 return [(box[1], sum(taken)) for box in boxes]

() A. boxes[]] (box[0] item, boxes[j][1])

(] B. boxes[i] = (box[@] - item, boxes[j][1])

(] C. boxes[]j] (box[0] item, boxes[i][1])

(box[0]

() D. boxes[i] item, boxes[i][1])
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1 def merge_sort(arr):

2 if len(arr) <= 1:

3 return arr

4 mid = len(arr) // 2

5 left = arr[:mid]

6 right = arr[mid:]

7 merge_sort(left)

8 merge_sort(right)

9 return merge(left, right)

10

11 def merge(left, right):

12 result = []

13 i, j=9, @

14

15 if left[i] < right[j]:

16 result.append(left[i])
17 i+4=1

18 else:

19 result.append(right[j])
20 j+=1

21 result += left[i:]

22 result += right[j:]

23 return result

(] A. while i > len(left) and j < len(right):

(] B. while i < len(left) and j > len(right):



(] C. while i > len(left) and j > len(right):

() D. while i < len(left) and j < len(right):
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def quick(arr):
if len(arr) <= 1:
return arr

left = [x for x in arr if x < p]
middle = [x for x in arr if x == p]
right = [x for x in arr if x > p]

return quick(left) + middle + quick(right)

p = arr[len() // 2]

p = arr[len(arr)+l // 2]
p = arr[len(arr)-1 // 2]
p = arr[len(arr) // 2]

def binary_search(arr, x):
low = 0
high = len(arr) - 1
while low <= high:
{

}

return -1

*Python

mid = (low + high) // 2
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if arr[mid] == x:
return mid

elif arr[mid+1] > x:
high =mid - 1

else:

low=mid + 1

- [ 1 **B.** " Python
mid = (low + high) // 2
if arr[mid] != x:
return mid
elif arr[mid+1] > x:
high = mid - 1
else:
low = mid + 1

().



(] C. Python
mid = (low + high) // 2
if arr[mid] == x:
return mid
elif arr[mid] > x:
high =mid - 1
else:

low = mid + 1

- [ ] **D.** ~"Python
mid = (low + high) // 2
if arr[mid] ! = x:

return mid
elif arr[mid] > x:

high = mid - 1
else:
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low = mid + 1
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def is_narcissistic_num(num):
str_num = str(num)
num_digits = len(str_num)

return num == sum_of_powers

for i in range(100, 10000):
if is_narcissistic_num(i):

print(i, "RKL7EE")
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(7] A. Python

sum_of powers = sum(int(digit) ** num_digits for digit in num)

2 - [ ] **B.** """ Python
3 sum_of_powers =

(7] C. Python

sum_of powers = sum(int(num) ** num_digits for digit in str_num)

2 - [ ] **D.** " Python

3  sum_of _powers =
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sum(int(digit) ** num for digit in str_num)

sum(int(digit) ** num_digits for digit in str_num)
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(] C. 45
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1 def reverse(string):
2 if len(string) == 0:
3 return

4 temp = string[o@]

5 reverse(string[1:])
6 print(temp, end="")
7/ string = "chen a dai"

8 reverse(string)

(] A. chen a dai
(] B. dai a chen
() C. iad a nehc

() D. chenadai
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1997/615=3(5R152)
615/152=4(&R7)
152/7=21(&5)
7/5=1(R2)
5/2=2(%1)
2/1=2(%0)
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8 RIERRITE, STLUESH (axb)%m=(a%m+b%m)%m
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1 20% =1 <10°
2 20% <10° =2
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ST ARTREHE, RIEA 1 <n,m < 10°, —10* < ¢;,a; < 10%,
315 BRERAF

1 N = 100010

2

3 a=[0] *N

4 c=1[0] *N

5

6 n, m = map(int, input().split())
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/7 mx = -10000

8 s = input().split()

9 for i in range(1, n + 1):
10 c[i] = int(s[i-1])
11 mx = max(mx, c[i])

12 s = input().split()
13 for i in range(1, m + 1):

14 a[i] = int(s[i-1])

15

16 for i in range(1, m + 1):
17 if n == 1 or a[i] > ©:
18 mx += a[i]

19

20 print(mx)
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prime = []
is_prime = [False] * 100010

def Eratosthenes(n):
is_prime[@] = is_prime[1] = False
for i in range(2, n + 1):
is_prime[i] = True
for i in range(2, n + 1):
if is_prime[i]:
prime.append(i)
ifi*1i>n:
continue

for j in range(i * i, n + 1, i):

is_prime[j] = False

Eratosthenes(100000)

t = int(input())
for _ in range(t):

tmp = 1
x = int(input())
ans = 0

while True:
if is_prime[x]:
ans += 1
break
X -= tmp
ans += 1
if x <= 0:
if x < 0:
ans = -1
break
tmp *= 2
print(ans)
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